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QUESTION 1

Given the following function:
replace (str, old, new, [n])

What does [n] specify?

A. the number of occurrences of the old that will be skipped from the beginning
B. the number of occurrences of the old that will be replaced from the beginning
C. an array of the new values

D. an array of the old values

Correct Answer: C

QUESTION 2

You want to control the information that can be viewed on the transaction page. What must you create to accomplish
this?

A. Constraint Rules

B. Transition Rules

C. Patrticipant Profiles

D. Internal User Definitions
E. Library Functions

Correct Answer: C

QUESTION 3

You have implemented a Commerce Constraint rule, which has an Advanced action. While testing, you
find that the attribute values specified in the rule are not being constrained, even though the condition is
always true.

What are two reasons for this behavior? (Choose two.)

A. The attribute is used as a condition for a Commerce Hiding rule.

B. Configuration was not deployed after the rule was implemented.

C. Commerce was not deployed after the rule was implemented.
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D. The rule is inactive

Correct Answer: CD

QUESTION 4

Which two items are necessary to migrate between environments? (Choose two.)

A. Environments must have similar urls (for example, testcustomer and devcustomer).
B. Environments must be on the same major release (for example, 2016R2).

C. Environments must be on the same minor release (for example, 2016R2 update 2).
D. Administrators must have FullAccess logins for both environments.

E. Entities to be migrated must be deployed within 24 hours of the migration.

Correct Answer: CD

QUESTION 5

Identify four types of attributes that can be set by formulas. (Choose four.)
A. Integer Attributes

B. Single Select Menu Attributes

C. Date Attributes

D. Text Attributes

E. Boolean Attributes

F. Currency Attributes

Correct Answer: ACEF
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